MAT 011, Exam #2, Fall 2015 Name V*EY

Instructions: Show all work. Use exact answers unless specifically asqzed to round. Be sure to answer all
parts of each questions.

1. Plot the points. Label the quadrants on the graph. 6 pts
a. (4,55 ' vz T T I ]
b. (2,1) ; - .
C. (—3, —4) d i A‘ - 1 ) ' = I
d. (6,-2) o - :
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2. Complete the table of ordered pairs that satisfy the equation 2x + 7y = 5. For the last box,

choose your own point. 4 pts
X y
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3. Solve fory in the equation 2x — 9y = —20. 4 pts
—2x ~ 25
- 19




n2x+y=2hby

4. Graph the equatio
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5. Graph the equation y

X=0o = 7225
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= 2x + 2 using the intercqpt method.
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7. What is the slope of a horizontal line?

m=0
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any method. iCIearIy label each point that you use. 4 pts
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8. What is the slope of a vertical line? :| 2 pts
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9. Find the slope of the line connecting the points (-8, —4), (E,{S). 4 pts
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10. Are the pairs of lines below parallel, perpendicular or neithe!r?
3x + 4y =-20 .;...g*,_;_@ - £33, -5
{4_x_3y=11 S | ||7r‘/~ 4 pts
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11. Find the equation of the line with the glven propqrties. Put tlflge equation in slope-intercept
form.
a m=-2,b=4 3 pts
Y= 2wty
b. m =2 through the point (5, —6 2&* 5 pt
. m =3, through the point (5, —6) \/_.(:.(o): 5 ’)QAS) pts
__._—--——-—-—*—— ;
¢. Vertical line through (2, -3) | 3 pts
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d. Parallel to 2x + 3y = 12 through the point (1, —4)
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e. Through the points (6,1), (2,9) | 5 pts
W= i;:é-; :_:% =~ Y —‘qz'&(')i@_-z,)
49 T4
hc ~24 %13
f. Perpendicular to the line x + 5y = 10, through the point (—2,7) 5 pts
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12. Which of the rglations are functions? Give the domain and range of each.
a. {(1;3); (4‘;3), (4'6) (10:11); (15,67)} 4pt5
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C. 4 pts
d. ¥ =[x — 6| [Hint: Graph the equation on your calculator.] 4 pts.
«6@ ‘ l i @w
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13. Find the values of the function f(4), £(0), f (=5).
a. f(x)=x%+2 3 pts

SE) = 4Hts (bt = (R
fd= ortr =2
£ = (5Pt = 25T =2

b. f(x) =4 -x 3 pts
,EUQz mf— JG =o
f-(,o) = J;T P ﬁ t 2D
FE) = Juco = V7 =3
14. Solve each system of equations graphically.
Determine if the system is consistent or inconsistent, i

and if applicable, independent or dependent. T
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